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semantic value (Racc TIXEZF!| valuelZ$3) %
FUT, action (ERENME) EEITT D, FERIERK
iHEE S X DEE%5 (RaccTlEresultiZ A f-{E)

—IN—HF =D TR T T5&. RIBESICfthET
BIEERT

B4 STE
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PEMEERTHSRAMFE, BECKELZEER TN, TOFTEEEX
TP (S TRET SR, BIEOFTHE (BN SEERFSZL) LR
BXALD/—FTiThhb,

B2 EIC NSNS, & F(sythesized)B M L& (inherited) B TH D,
EREMLE. BHTEORRELLTERINDILDTHY, MEBIHEDEEE
AT5E0H5. BEABMLE. B/ —FHORESNIEMETHD,

+ LKONDFETIE, SRR ITEREREEXBTARO LISET OIZED

NOBRBEIEICTISET OISEDND, HIRIE SEERY—ILEERT
BI56. BUECEIBXERICER (B £R/ETHDIFEDND, T, Xk
(BSURAIE 1 TIEBIRMISRESNGVEEORAD 25> TRRRIIRITE
TICELARETH S,

SEMXELLREBMIE

- SEMXE
- BERBEHEF-LVOEMEE, b T A UBUETT
LR LT YT CHEMA R, yace (& SEMEX
BRIZEDLTWVS,
« LREMXE
— LREZZEH T TORMIE, R LT Y THEX
R CER. LRESGED Y Ty THY . SEMSGE
DRA—N\—EYrTHD, yacc (TE B LREMHEE
IZEDLTNS,
— In yacc, a common hack is to use global variables to
simulate some kind of inherited attributes and thus
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1:% I * t*& %*ﬁx * # $1d: calc.y,v 1.4 2005/11/20 13:29:32 aamine Exp $
#
# Very simple calculater.
RzIzTS5—
class Calcp
prechigh
@ nonassoc UMINUS
left ey EHFIBLOES
6 Operator Node left (R - P
— preclo‘w\ﬁﬁ(iz‘zﬁg FAskEES GE#RIHEES)
f @ \ @ / \ rule '///’//:;)iﬁﬂlliﬁfﬂfﬁl:iﬁﬂﬁ
’ é @ * 2 tarth/:fﬁgne */ { result = 0} #i02% B (0% B AVEE) (SR> TRl

2 ‘A ‘ \ Operand NOV { \4
PP

exp: exp '+' exp { result += val[2] }
| exp'-'exp {result-=val[2] }
| exp *' exp { result *= val[2] }
| exp'/'exp {result/=val[2] }
| '("exp")' {result=val[l] }
| '-"NUMBER =UMINUS { result = -val[1] }
| NUMBER
end DY AF A& UMINUSERILEES




BUTTH

rule
target: exp B BR 7 3K
| /* none */{result=0}

exp: exp '+' exp { result += val[2] }

| exp'-'exp {result-=val[2]}

| exp ™ exp {result *= val[2] }

| exp'"exp {result/=val[2]}

| '("exp’) {result=val[1]}

| '-'NUMBER =UMINUS { result = -val[1] }

| NUMBER E E
end N /N

E + E E E

s N VO
NUM+NUM*NUM => Num E * 'f E + E NUM

NUM NUM NUM  NUM

BUY

rule BT HHA., 2y
target: exp PFUVL BEHOEXK
| /* none */ { result =0} NEohiLE EBLMN
ELLDE(FHRIZE)T
exp: exp '+ exp { result += val[2] } <SRnd,

exp - exp {result-=val[2] }

exp ™' exp { result *= val[2] }

exp 'I"exp {result/=val[2]}

‘('exp') {result=val[1]}

' NUMBER =UMINUS { result = -val[1] }

| NUMBER £ E
end _/l\ /f\E
F /N /NN
NUM + NUM * NUM ‘:> NUM T * T E + E NUM
NUM NUM NUM NUM

AL THED

class Calcf
rule $ racc -o calcf.rb calcf.y
target: exp 16 shift/reduce conflicts
* none */ { result = 0
1/ " ’ $ ruby calcf.rb
exp: exp '+' exp { result += val[2] } . .
exp '-'exp { result-=val[2] } type "Q" to quit.
| exp *' exp { result *= val[2] }
| exp'/exp {result /= val[2] } 7 243
| '(exp")' {result=val[1] } =5
| '-"NUMBER { result = -val[1] } R
| NUMBER 7 2+43%4
end =14
? 2%3+4
= 14
?

LR N—F—DEE

—EETERY S CHLHERLLY:
exp: exp '+' exp { result += val[2] }

| exp "™ exp { result *= val[2] } E
| '(exp') {result=val[1]} E/L\E
+
| NUMBER / E/¢\E
NUM *
Lo
NUM  NUM

AJI: NUM + NUM * NUM

WAEDIKRE: E+E
ZNFETIZ/S—
ALI-EH

shift-reduce conflict &Y !
ELEXRBTT BITIFES LIz LA ?

LR N—F—DEE

—EETERY S CTHLHARLLY:
exp: exp '+' exp { result += val[2] }

| exp "™ exp{ result *= val[2] } E
| '(exp') ({result=val[1]} E/L\E
NUMBER +
! 5N,
NUM *
o
AT NUM + NUM * NUM NUM  NUM
BEORE: E+E* \
INETIZ/S—
ALI-EH

shift-reduce conflict %Y !
ELEXBTTBITIFES LIz LA ?
SHIFT

LR N—F—DEE

—EETERY S CHLHERLLY:
exp: exp '+' exp { result += val[2] }

| exp '™ exp { result *= val[2] } E
| '(exp') {result=val[1]} _ /N .
NUMBER +
! 5N,
NUM *
I
AT NUM + NUM * NUM NUM  NUM
RADIKE: E+E*NUM \
INETIZ/N—
ALEER

SHIFT SHIFT




LR N—F—DEE

—EREFERYE Y

LR N—F—DEE

THESARLLY: —HEZRYHT THESAERLLY:
exp: exp '+' exp { result += val[2] } E exp: exp '+' exp { result += val[2] } E
| exp ™ exp { result *= val[2] } | exp ™ exp { result *= val[2] }
| ‘Coxp) {result=valli]} NG | "Cexp) {result=vall1]} SN
+ +
| NUMBER / /¢\ | NUMBER / /¢\
NUM E« E NUM E « E
o o
A NUM + NUM * NUM NUM - NUM A NUM + NUM * NUM NUM  NUM
BEDIKE: E+E*E BEDKE: E+E \
ZNFETIZ/S— ZNFETIZ/S—
ALf=EHR ALI-EFH
REDUCE REDUCE
o > 7
LR /A—F—DEE Tl D& S AEHT
—EETERY S ZHSARLLY: —EETERY S
exp: exp '+' exp { result += val[2] } E exp: exp '+' exp { result += val[2] }
| exp ™ exp { result *= val[2] } | exp "™ exp { result *= val[2] }
| '("exp’) {result=val[1]} /‘\ E | '("exp’) {result=vall1]}
| NUMBER /E + /1N | NUMBER T + E
Num o B lE NUM  NUM
AJI: NUM + NUM * NUM NUM- NUM AJI: NUM + NUM * NUM \ /
RAEDKE: E WIEDKEE: E+E ZMETIT/S—RLT
CNFETIZ/S— £
ALI-EFH
shift-reduce conflict &Y !
REDUCE 512 REDUCE LzbE5%5 M
vl vl
A D& R IIOL:8°8: iy
—EETERY S —EETERY S
exp: exp '+' exp { result += val[2] } exp: exp '+' exp { result += val[2] } - E
| exp ™ exp { result *= val[2] } E | exp ™ exp { result *= val[2] } E
| '("exp’) {result=val[1]} /L\. | '("exp') {result=vall1]} ./l\. \.
| NUMBER T + E | NUMBER T + E NUM
NUM NUM NUM NUM
AJI: NUM + NUM * NUM \ / AJI: NUM + NUM * NUM \ /
BEOKE: E ggm:/\"—xu: BEOKE: E'E ZhETIZA—RLE

REDUCE

£

4E(E: SHIFT SHIFT REDUCE




A DFESCEEMT

—EETERY S E
exp: exp "+ exp { result += val[2] } /i\E
| exp "™ exp { result *= val[2] } E
| "Cexp’) {result=val[1]} NN\
| NUMBER E + E NUM
NUM  NUM
AJI: NUM + NUM * NUM \/
BEDIKE: E ZNhFETIT/N—ZLE
: £
REDUCE

C_ETODEED

—EEFERYE T

CHLHERLLY:
exp: exp '+' exp { result += val[2] }
| exp '™ exp { result *= val[2] } E
| '(exp') {result=val[1]} E/L\E
NUMBER +
| /N
NUM E ~ E
I
AFI: NUM + NUM * NUM NUM  NUM
BEOGRE: E+E \
CNFETIZ/S—
ALI-EFH

shift-reduce conflict &Y !

ABYHEIZE+E &Y, #FLT™

Shift LfzLY. SAMEE 7 shift LizLy
EWVS3DE, * D B precedence [E + &Y E.

L gt V]|
—EEFERY Y

exp: exp '+' exp { result += val[2] }
exp ' exp { result -= val[2] }
exp "' exp { result *= val[2] }

| '('exp') {result=vall1]} E - E
| NUMBER | |
NUM  NUM
AT NUM - NUM - NUM \/
REDIKE: E-E ZNETIZ/SA—ALT=
: BHR

shift-reduce conflict %Y !
RABYYEIZE-E &Y, RIZHEDIFE -.

L gt V)
—EEFERY T

exp: exp '+' exp { result += val[2] }

| exp ' exp {result -= val[2] } E

| exp ™ exp { result *= val[2] } /L\

| '(exp') {result=val[1]} E . E

| NUMBER l l

NUM  NUM
AZ: NUM - NUM - NUM \/
REDIKE: E ZNFETIZ/SA—ALT
) £ 5

shift-reduce conflict &Y !
ZABYJEIZE-E HY, RIZHEDIF -.

faEg EH? faEdEH?
REDUCE
Sl — b —
gy | g ]|
— 8 EHRYHS —ERITERY T E
exp: exp '+' exp { result += val[2] } £ exp: exp '+ exp { result += val[2] } /i\E
| exp'-'exp {result-=val[2] } E - | exp'-'exp {result-=val[2] } E -
| exp ™ exp { result *= val[2] } ./L\. \4 | exp ™ exp { result *= val[2] } ./l\. \.
| ‘Cexp’) {result=val[1]} E - E NUM | ‘Cexp') {result=val[1]} E - E NUM
| NUMBER | | NUMBER [
NUM NUM NUM NUM
AJI: NUM - NUM - NUM \ / AJI: NUM - NUM - NUM \ /
WEDRKE: E-E é’%ﬁfl:’\n_XLf: BEDKE: E éig,;’cl:/\“—xbfz

SHIFT SHIFT REDUCE

REDUCE




F20: FLo

—EEFERY T E
exp: exp "+ exp { result += val[2] } /i\E
| exp - exp { result -= val[2] } E -
| exp ™ exp { result *= val[2] } ,/L\, \
| '(exp') {result=val[1]} E . E NUM
| NUMBER | |
NUM NUM
AZI: NUM - NUM - NUM \ /
BREOKE: E IMETIT/N—RLTz
; £

shift-reduce conflict &Y ! .

ZABYYEIZE-E &Y, RIZHHDIF -.
fAEgEnh? &7

reduce ZL7=L). £LV5D - [ left-associative.

BEELHEEE

s BAELEEMERISDDAENHS:
1) Racc [TXAEEhELFFIZTS.
+ Raccl& (Yaccld) . shift-reduce conflict A& 2 & shift 3%
s L. E5T 5L TRYSTDERNAMYIZLES; thdEh
DNETINVTTEDIZKEN TSI, —BMIZIFILAULT
[EeAyA
2) HUOEWNEDLROIGRICEEHRZ D
s BHNORMIKIEDEETAHY
3) Racc (Yacc) DBEEREZALD
« {oLHEE, left, right, nonassoc

+ A
BEREELGEEM
- BEEMIERINDL, Race (ERIREES LHRAICEEEZEY
HTH
- ﬁg‘?ﬁ%%‘)@@ﬁgl& EEHENENMNMTVDIESE (F=IXT D, 15
S
- EMBAOBEE . RAERKIRESOBEETHD
o fl: 38| E == E + E OB == prec('+)
« shift-reduce conflict M f#;H 75 %:
— prec(terminal) > prec(rule) ==> shift
— prec(terminal) < prec(rule) ==> reduce
— prec(terminal) = prec(rule) ==>
« assoc(terminal) = left ==> reduce
- assoc(terminal) = right ==> shift
« assoc(terminal) = nonassoc ==> T5—

BEELHEEE

prechigh
nonassoc UMINUS
left Rl
left e
preclow
rule
target: exp
| /* none */ { result =0 }

exp: exp '+ exp { result += val[2] }

exp ' exp {result-=val[2] }

exp ™' exp { result *= val[2] }

exp '"exp {result/=val[2] }

'"exp') {result=val[1]}

' NUMBER =UMINUS { result = -val[1] }

ATV HEIHETRE T AT eeeeeeessnennns TE | NUMBER
end
REyo Lo HRAOED......E%E
ELEaH BERELEEH
1%9'3 xt{f‘nm 2 xtnnm

prechigh prechigh
nonassoc UMINUS nonassoc UMINUS
left o left o
left o left o

preclow preclow

A ST RIEZAE T AV ereeeresmrssnnnes S prec(™) > prec('+') AF: SREEZAE T AR eereerrnreneninns S prec(™) > prec('+')

ARy LD RAIDOHD: .. E'+E

AEyY LD HAIOAD: .. E'+E

SHIFT




BEELEEE

prechigh
nonassoc UMINUS
left Rl
left R
preclow
AT HEIRERE T AR s - E

ARy LD RAIOHD: .. E'+E

prec(‘+') = prec(*-')

BEELHEEE

prechigh
nonassoc UMINUS
left Rl
left R
preclow
AT HBIRET S T AV oo - E

AEyy LD RAIOHD: .. E'+E

REDUCE

prec(‘+') = prec(*-')

£ — 4l

£ —

prechigh prechigh
left Rl left e
left o left o
preclow EE preclow EE
rule rule
target: exp Y E target: exp v E
| /* none */{result=0} | /* none */{result=0}
exp: exp '+ exp { result += val[2] } E3u5m? exp: exp '+ exp { result += val[2] } ES13Bm?
| exp'-'exp {result-=vall2]} | exp'-'exp {result-=vall2]} o o
| exp ™ exp { result *= val[2] } | exp ™ exp { result *= val[2] } prec( ™) > prec( ') ==> SHIFT
| exp'"exp {result/=val2]} | exp'l"exp {result/=vall2]}
| '(exp') {result=val[1]} | '(exp') {result=val[1]}
| -'NUMBER {result = -val[1] } | '-'NUMBER {result = -val[1] }
| NUMBER | NUMBER
fE1E fE1E
prechigh prechigh
nonassoc UMINUS nonassoc UMINUS
left e left e
left o left o
preclow EE preclow EE
rule rule
target: exp L-E target: exp ..~ NUMBER
| /* none */{result=0} | /* none */{result =0}
exp: exp '+ exp { result += val[2] } E36%m 7 exp: exp '+ exp { result += val[2] } ES1Bm?

exp ' exp {result-=val[2]}

exp ™' exp { result *= val[2] }

exp '/"exp {result/=val[2]}

‘"exp') {result=val[1]}

' NUMBER =UMINUS { result = -val[1] }

|
|
|
|
|
| NUMBER

exp ' exp {result-=val[2]}

exp ™ exp { result *= val[2] }

exp '/"exp {result/=val[2]}

‘‘exp') {result=val[1]}

' NUMBER =UMINUS { result = -val[1] }

|
|
|
|
|
| NUMBER

prec( ') > prec( ') ==> REDUCE
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BHASbYA else (dangling else) BHASbYA else (dangling else)

" Xk . jSC%:'fEth Selse S
L a=i en S else
S:=ifEthen Selse S S = ifE then S
S:=ifEthenS Su=..
S:u= .. o FfR: SCEDESHA
+ IR ifathenifbthen S else S gfffm
- ﬁg*ﬁ' 1: if a then (If b then S else S) M':':= if E then M else M
— i #7 2: if a then (if b then S) else S M=
« Raccld shift-reduce conflict Z#g& U:=ifEthen S
e ) U:=if Ethen Melse U
— T 74— Lk shift (BHDILD)

Racc M7 74— JLEENE

» Shift-Reduce conflict
— shift

* Reduce-Reduce conflict
— A DHRENT reduce
— —fRBIICIE. RED/NT !




